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1. The statement that is not correct for

periodic classification of elements is

A. the properties of elements are the

periodic functions of their atomic

numbers

B. non-metallic elements are lesser in

number than metallic elements

C. the first ionisation energies of elements

along a period do not vary in a regular

https://dl.doubtnut.com/l/_uuEZMxAomFdN


manner increase in atomic number

D. for transition elements of - subshells

are filled with electrons monotonically

with increase in atomic number

Answer: D

Watch Video Solution

d

2. Which of the following statements is/are

true for the long form of the periodic table?

https://dl.doubtnut.com/l/_uuEZMxAomFdN
https://dl.doubtnut.com/l/_52KpvmQAt3DE


A. it reflects the sequence of filling the

electrons in the order of sub-energy

level  and 

B. it helps to predict the stable valency

states of the elements

C. it refelcts tends in physical and chemical

properties of the elements

D. it helps to predict the relative ionicity of

the bond between any two elements

Answer: B::C::D

s, p, d f

https://dl.doubtnut.com/l/_52KpvmQAt3DE


Watch Video Solution

3. The ionic radii of  and  are

respectively given by:

A. 1.36, 1.40 and 1.71

B. 1.36, 1.71 and 1.40

C. 1.71. 1.40 and 1.36

D. 1.71, 1.36 and 1.40

Answer: C

N 3 − , O2 − F −

https://dl.doubtnut.com/l/_52KpvmQAt3DE
https://dl.doubtnut.com/l/_btUGaSCOVisp


Watch Video Solution

4. Which one of the following alkaline earth

metal sulphates has its hydration enthalpy

greater than its lattice enthalpy?

A. 

B. 

C. 

D. 

Answer: B::C::D

CaSO4

BeSO4

BaSO4

SrSO4

https://dl.doubtnut.com/l/_btUGaSCOVisp
https://dl.doubtnut.com/l/_xdhKwtSqXhCX


Watch Video Solution

5. Which among the following is the most

reactive gt

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Cl2

Br2

I2

lCl

https://dl.doubtnut.com/l/_xdhKwtSqXhCX
https://dl.doubtnut.com/l/_rWavi7qJXG4z


6. Which one has the highest boiling point?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

He

Ne

Kr

Xe

https://dl.doubtnut.com/l/_rWavi7qJXG4z
https://dl.doubtnut.com/l/_YXZnvE4LtQZk
https://dl.doubtnut.com/l/_RPSCNoseAkJq


7. The first ionisation potential of  is .

The value of eectrons gain enthalpy of 

will be

A. 

B. 

C. 

D. 

Answer: B::C::D

Watch Video Solution

Na 5.1eV

Na+

−2.55eV

−2.1eV

−10.2eV

+2.55eV

https://dl.doubtnut.com/l/_RPSCNoseAkJq
https://dl.doubtnut.com/l/_wZdX0n1gYiz1


8. Which of the following represents the

correct order of increasing first ionisation

enthalpy for , and ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Ca, Ba, Se Ar

Ca < S < Ba < Se < Ar

S < Se < Ca < Ba < Ar

Ba < Ca < Se < S < Ar

Ca < Ba < S < Se < Ar

https://dl.doubtnut.com/l/_wZdX0n1gYiz1


9. The least stable in amongst the following is

:

A. 

B. 

C. 

D. 

Answer: B::C::D

Watch Video Solution

Li+

Be−

B−

C −

https://dl.doubtnut.com/l/_NQ0QucxFEIta
https://dl.doubtnut.com/l/_IO0M8tQG8cWA


10. The set representing the correct order of

the first ionisation potential is

A. 

B. 

C. 

D. 

Answer: B::C::D

Watch Video Solution

K > Na > Li

Be > Mg > Ca

B > C > N

Ge > Si > C

https://dl.doubtnut.com/l/_IO0M8tQG8cWA


11. The correct order of radii is

A. 

B. 

C. 

D. 

Answer: B::C::D

Watch Video Solution

N < Be < B

F − < O2 − < N 3 −

Na < Li < K

Fe3 + < Fe2 + < Fe4 +

https://dl.doubtnut.com/l/_l2enU2YcvPhB


12. The incorrect statement among the

following

A. The first ionisation potential of  is less

than the first ionisation potential of 

B. The second ionisation potential of  is

greater than the second ionisation

potential of 

C. The first ionisation potential of  is

less thasn the first ionisation potential

Al

Mg

Mg

Na

Na

https://dl.doubtnut.com/l/_N9GJjISKIKmO


of 

D. The third ionisation of  is greater

than third ionisation potential of 

Answer: B::C::D

Watch Video Solution

Mg

Mg

Na

13. Which of the following has the maximum

number of unpaired electrons ?

A. Mg2 +

https://dl.doubtnut.com/l/_N9GJjISKIKmO
https://dl.doubtnut.com/l/_FJv7mqQkBCY1


B. 

C. 

D. 

Answer: D

Watch Video Solution

Ti3 −

V 3 +

Fe2 +

14. Which has the most stable  oxidation

state ?

A. 

+2

Sn

https://dl.doubtnut.com/l/_FJv7mqQkBCY1
https://dl.doubtnut.com/l/_dCd6MRvFyadg


B. 

C. 

D. 

Answer: B::C::D

Watch Video Solution

Pb

Fe

Ag

15. Amongst the following elements (whose

electronic configuration an given below) the

one having highest ionization energy is

https://dl.doubtnut.com/l/_dCd6MRvFyadg
https://dl.doubtnut.com/l/_VrEgCjh9QQWD


A. 

B. 

C. 

D. 

Answer: B::C::D

Watch Video Solution

[Ne]3s23p1

[Ne]3s23p3

[Ne]3s23p2

[Ar]3d104s24p3

16. Which one of the following is the smallest

in size?

https://dl.doubtnut.com/l/_VrEgCjh9QQWD
https://dl.doubtnut.com/l/_GxS7wcKlU3HH


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

N 3 −

O2 −

F −

Na+

17. The first ionisation potential of

 and  are in the orderNa, Mg, Al Si

https://dl.doubtnut.com/l/_GxS7wcKlU3HH
https://dl.doubtnut.com/l/_51IEWIIowPaj


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Na < Mg > Al < Si

Na > Mg > Al > Si

Na < Mg < Al > Si

Na > Mg > Al < Si

18. The electronegativity of the following

elements increases in the order

https://dl.doubtnut.com/l/_51IEWIIowPaj
https://dl.doubtnut.com/l/_3hYj9OjEq4k6


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

C, N, Si, P

N, Si, C, P

Si, P , C, N

P , Si, N, C

19. Atomic radil of fluorine and neon in

Angstrom units are respectively given by

https://dl.doubtnut.com/l/_3hYj9OjEq4k6
https://dl.doubtnut.com/l/_YhocH0v0f1pQ


A. 0.72, 1.60

B. 1.60, 1.60

C. 0.72, 1.72

D. None of these

Answer: A

Watch Video Solution

20. The first ionisation potential in electron

volts of nitrogen and oxygen atoms are

respectively given by

https://dl.doubtnut.com/l/_YhocH0v0f1pQ
https://dl.doubtnut.com/l/_buMayAQvOry0


A. 14.6, 13.6

B. 13.6, 14.6

C. 13.6, 13.6

D. 14.6, 14.6

Answer: A

Watch Video Solution

21. The hydration entahphy of  ion is

higer than that of

Mg2 +

https://dl.doubtnut.com/l/_buMayAQvOry0
https://dl.doubtnut.com/l/_D1nJSo3YSjhz


A. 

B. 

C. 

D. 

Answer: B::C::D

Watch Video Solution

Al3 +

Na+

Be2 −

Mg3 +

22. Which of the following element has the

highest ionisation enregy ?

https://dl.doubtnut.com/l/_D1nJSo3YSjhz
https://dl.doubtnut.com/l/_LdtcC6dUe4TD


A. boron

B. carbon

C. nitrogen

D. oxygen

Answer: C

Watch Video Solution

23. The correct order of the second ionisation

potential of carbon, nitrogen, oxygen and

fluorine is

https://dl.doubtnut.com/l/_LdtcC6dUe4TD
https://dl.doubtnut.com/l/_eZypVuzon6CB


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

C > N > O > F

O > N > F > C

O > F > N > C

F > O > N > C

24. The option (s) with only amphoteric oxides

is (are)

https://dl.doubtnut.com/l/_eZypVuzon6CB
https://dl.doubtnut.com/l/_yD5Lk4dlq4KG


A. 

B. 

C. 

D. 

Answer: A::B

Watch Video Solution

NO, B2O3, PbO, SnO2

Cr2O3, CrO, SnO, PbO

Cr2O3, BeO, SnO, SnO2

ZnO, Al2O3, PbO, PbO2

25. Ionic radii of :

A. Ti4 − < Mn−

https://dl.doubtnut.com/l/_yD5Lk4dlq4KG
https://dl.doubtnut.com/l/_7XarnmSl4EGu


B. 

C. 

D. 

Answer: D

Watch Video Solution

.35 Cl− < .37 Cl−

K − > Cl−

P 3 − > P 5 +

26. Sodium sulphate is soluble in

water,whereas barium sulphate is sparingly

soluble because

https://dl.doubtnut.com/l/_7XarnmSl4EGu
https://dl.doubtnut.com/l/_4hCxVpGjDo8H


A. the hydration energy of sodium sulphate

is more than its lattice energy

B. the lattice energy of barium sulphate is

more than its hydration energy

C. the lattice energy has no role to play in

solubility

D. the hydration energy of sodium sulphate

is less than its lattice energy

Answer: A::B

Watch Video Solution

https://dl.doubtnut.com/l/_4hCxVpGjDo8H


27. Statement I Nitrogen and oxygen are the

main components in the atmosphere but

these do not react to form oxides of nitrogen. 

Statement II The reaction between nitrogen

and oxygen requires high temperature.

A. Statement I is true: Statement II is true,

Statement II is the correct explanation of

Statement I.

https://dl.doubtnut.com/l/_4hCxVpGjDo8H
https://dl.doubtnut.com/l/_B8UQ2Kv7SYoU


B. Statement I is true, Statement II is true,

Statement II is not the correct

explanation of Statement I.

C. Statement I is true, Statement II is false.

D. Statement I is false, Statement II is true.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_B8UQ2Kv7SYoU


28. Assertion (A) :  compounds are

stronger oxidiising agents than 

compounds . 

Reason (R): The higher oxidation states for

group  elements are more stable for the

heavier members of the group due to inert

pair effect .

A. Statement I is true: Statement II is true,

Statement II is the correct explanation of

Statement I.

Pb+ 4

Sn4 +

14

https://dl.doubtnut.com/l/_wvQVhV8liKKW


B. Statement I is true, Statement II is true,

Statement II is not the correct

explanation of Statement I.

C. Statement I is true, Statement II is false.

D. Statement I is false, Statement II is true.

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_wvQVhV8liKKW


29. Band gap in germanium is small. 

The energy spread of each germanium atomic

energy level is infinitesimally small.

A. Statement I is true: Statement II is true,

Statement II is the correct explanation of

Statement I.

B. Statement I is true, Statement II is true,

Statement II is not the correct

explanation of Statement I.

C. Statement I is true, Statement II is false.

https://dl.doubtnut.com/l/_2UvdXfnspgn5


D. Statement I is false, Statement II is true.

Answer: C

Watch Video Solution

30. Assertion: The first ionisation energy of 

is greater than that of . 

Reason: 2p-orbital is lower in energy than 2s-

orbital.

Be

B

https://dl.doubtnut.com/l/_2UvdXfnspgn5
https://dl.doubtnut.com/l/_cD1oiYMgTfRG


A. Statement I is true: Statement II is true,

Statement II is the correct explanation of

Statement I.

B. Statement I is true, Statement II is true,

Statement II is not the correct

explanation of Statement I.

C. Statement I is true, Statement II is false.

D. Statement I is false, Statement II is true.

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_cD1oiYMgTfRG


31. Assertion (A) :F atom has less electron than

 atom 

Reason (R ) : Additional electrons are repelled

more effectively by  electron in  atom

than by  electron in F atom

A. Statement I is true: Statement II is true,

Statement II is the correct explanation of

Statement I.

CI Θ

3p CI

2p

https://dl.doubtnut.com/l/_cD1oiYMgTfRG
https://dl.doubtnut.com/l/_F1CTv4OUn4Wg


B. Statement I is true, Statement II is true,

Statement II is not the correct

explanation of Statement I.

C. Statement I is true, Statement II is false.

D. Statement I is false, Statement II is true.

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_F1CTv4OUn4Wg


32. Compounds that formally contain 

are easily reduced to  .The stability of

the lower oxidation state is due to  .

Watch Video Solution

Pb4 +

Pb2 +

……..

33.  has a smaller ionic radius than 

because it has `"………" .

Watch Video Solution

Ca2 + K ⊕

https://dl.doubtnut.com/l/_b72rxjvZpzJL
https://dl.doubtnut.com/l/_ZDm2QRarlkJe


34. On Mulliken scale the average of  and 

 is known as  .

Watch Video Solution

IP

EA _______

35. The energy released when an electron is

added to a neutral gaseous atom is called

of atom

Watch Video Solution

……….

https://dl.doubtnut.com/l/_MlzxXVTjbO0e
https://dl.doubtnut.com/l/_6eQKP8o4Qatb


36. The basic nature of the hydroxides of

group  decreases progessively down the

group.

Watch Video Solution

13

37. The decreasing order of electron affinity of

 and  is .

Watch Video Solution

F , Cl Br F > Cl > Br

https://dl.doubtnut.com/l/_p7XkkH2C04Bz
https://dl.doubtnut.com/l/_97Y2ORRbrd96


38. In group  of alkali metals, the ionisation

potential decrease down the group,Therefore

,lithium is a poor reducing agent.

Watch Video Solution

IA

39. The softness of group  metals increase

down the group with increasing atomic

number.

Watch Video Solution

IA

https://dl.doubtnut.com/l/_0wxNTrySXVku
https://dl.doubtnut.com/l/_5xNLzrrgCg48
https://dl.doubtnut.com/l/_NSkWs81pmy7e


40. Arrange the following ions in order of their

decreasing ionic radii. 

Watch Video Solution

Li⊕ , K ⊕ , Mg2 + , Al3 +

41. Compare qualitatively the first and second

ionisation potentials of copper and zinc.

Explain the observation.

Watch Video Solution

https://dl.doubtnut.com/l/_NSkWs81pmy7e
https://dl.doubtnut.com/l/_snozA8Q0PFgG
https://dl.doubtnut.com/l/_HRimnDMfyAZC


42. Arrange the following as stated: Increasing

order of ionic size 

Watch Video Solution

N 3 − , Na⊕ , F ɵ , O2 − , Mg2 +

43. Give reason for the following : 

a. The first ionisation enthalpy of carbon

carbon is greater than that of boron, whereas

the reverse is true fore the second ionisation

enthalpy . 

b. Solid carbon dioxide is known as dry ice . 

https://dl.doubtnut.com/l/_HRimnDMfyAZC
https://dl.doubtnut.com/l/_YuT3D55hGN1i


c. Why does not silicon form an analogue of

graphite ?

Watch Video Solution

44. Arrange the following in the given order 

(a) Decreasing ionic size,

 


(b )Increasing first ionisaiton energy :

 


(c ) Increasing bond length  


Mg2 + , O2 − , Na⊕ , F ɵ

Mg, Al, Si, Na

F2, N2, Cl2, O2

https://dl.doubtnut.com/l/_YuT3D55hGN1i
https://dl.doubtnut.com/l/_ybqVsFxL0Es1


(d) The order of their increasing size: 

Watch Video Solution

Clɵ , S2 − , Ca2 + , Al3 +

45. Arrange the following in the given order 

(a) Decreasing ionic size,

 


(b )Increasing first ionisaiton energy :

 


(c ) Increasing bond length  


Mg2 + , O2 − , Na⊕ , F ɵ

Mg, Al, Si, Na

F2, N2, Cl2, O2

https://dl.doubtnut.com/l/_ybqVsFxL0Es1
https://dl.doubtnut.com/l/_vnNtiQmurqM7


(d) The order of their increasing size: 

Watch Video Solution

Clɵ , S2 − , Ca2 + , Al3 +

46.  atoms of X(g) are converted into 

 (g) by energy  atoms of X(g) are

converted into  (g) by the energy  .

Hence ionisation potential and electron

affinity of X(g) are :

A. 

N0 /2

X + E1. N0 /2

X − E2

,
2E2

N0

2(E1 − E2)

N0

https://dl.doubtnut.com/l/_vnNtiQmurqM7
https://dl.doubtnut.com/l/_4iElz2NQp5xB


B. 

C. 

D. None is correct

Answer: B

Watch Video Solution

,
2E1

N0

2E2

N0

,
(E1 − E2)

N0

2E2

N0

47. The correct electron affinity order of

 is:

A. 

N, O, S, Cl

N < O < S < Cl

https://dl.doubtnut.com/l/_4iElz2NQp5xB
https://dl.doubtnut.com/l/_IwitvnD12TEV


B. 

C. 

D. 

Answer: D

Watch Video Solution

O < N < Cl < S

O ≈ Cl < N ≈ S

N < S < O < Cl

48. If Aufbau and Hund's rule are not used,

then incorrect statement is

A.  would be coloured ionK +

https://dl.doubtnut.com/l/_IwitvnD12TEV
https://dl.doubtnut.com/l/_oS5hFwWkPuif


B.  will be in same -block (if these rules

are true)

C.  would be - would element

D. Magnetic moment of  would be

zero

Answer: A

Watch Video Solution

Na s

Cu s

Cr(24)

https://dl.doubtnut.com/l/_oS5hFwWkPuif


49. A compound of vanadium has a magnetic

moment of . Work out the electronic

configuration of vanadium in the compound

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

1.73BM

VCl2

V Cl3

V Cl4

V Cl5

https://dl.doubtnut.com/l/_9za34xtqs5Mu


50. Which of the following can be acceptable

electronic configuration of carbon atom in the

ground state?

A. 

B. 

C. 

D. 

Answer: A::B::D

Watch Video Solution

https://dl.doubtnut.com/l/_STH1j8x8FV6e


51. Which of the following statement is (are)

correct regarding periodic table?

A. In a period ionisation eergy increases

monotinically from left to right

B. Electronegativity increases from left to

right

C. Electron affinity decreases monotonically

from top to bottom in a group

https://dl.doubtnut.com/l/_STH1j8x8FV6e
https://dl.doubtnut.com/l/_GoXDL1BFZr6z


D. Transition elements starts only from

fourth period of the periodic table

Answer: A::C

Watch Video Solution

52. Assertion Nitrogen has higher first

ionisation energy than oxygen. 

Reason Atomic radius of nitrogen is smaller

than that of oxygen.

https://dl.doubtnut.com/l/_GoXDL1BFZr6z
https://dl.doubtnut.com/l/_4VAWLdUYM0tK


A. Both Assertion and Reason are correct

and Reason is the correct explanation on

the Assertion.

B. Both Assertion and Reason are correct

but Reason is not the correct

explanation of Assertion

C. Assertion is correct but Reason is

incorrect

D. Assertion is incorrect but Reason is

correct

https://dl.doubtnut.com/l/_4VAWLdUYM0tK


Answer: C

Watch Video Solution

53. Assertion:  is a good reducing agent

while  is stable although both  and 

 belongs to same group of periodic table. 


Reason:  show inert pair effect.

Watch Video Solution

SnCl2

PbCl2 Sn

Pb

Pb

https://dl.doubtnut.com/l/_4VAWLdUYM0tK
https://dl.doubtnut.com/l/_F04AcAroPyJm


54. Match the statements of Column I with

values of Column II 

Watch Video Solution

55. In ground state of oxygen, in how many

ways its - electrons can be represented in boxp

https://dl.doubtnut.com/l/_yVhKjjBtz0PY
https://dl.doubtnut.com/l/_Qi8B4MvLhTHN


Objective Type

diagram without violating either Hund's rule

of Pauli's exclusion principle?

Watch Video Solution

1. The first ionisation potential of nitrogen and

oxygen atoms are related as follows.

A. The ionisation potential of oxygen

potential of oxygen is less than the

https://dl.doubtnut.com/l/_Qi8B4MvLhTHN
https://dl.doubtnut.com/l/_3bwtl2bwLCz4


ionisation potential of nitrogen

B. the ionisation potential of nitrogen is

greater than the ionisation potential of

oxygen

C. The two ionisation potential values are

comparable

D. The difference between the two

ionisation potential is too large

Answer: A::B::C

View Text Solution

https://dl.doubtnut.com/l/_3bwtl2bwLCz4


Comprehension Type

1. Let's consider a hypothetical planet

 which is similar to our earth in

several aspects. The similarities are 

On pseudo earth: 

(i) There are same number of elements as on

our earth and they are known by the same

name. 

(ii) Pauli's exclusion principal, Hund's Rule and

Aufbau principle are known to the people of

pseudo Earth

https://dl.doubtnut.com/l/_3bwtl2bwLCz4
https://dl.doubtnut.com/l/_yADMCx0fD7X7


pseudo earth in the same manner as we know

on our earth. 

(iii) They classify elements as representative,

transition and inner- transition elements in

the same manner as we classify on our earth. 

However, there is one basic difference in

understanding the electrons, spin on these

two earths. On our earth the electron can have

only two spin directions. clock wise (1) and

anti-clockwise (2), while on pseudo earth there

is an additional possible value of spin

quantum number called neutral spin (3) in

which electron is believed to be fluctuating

https://dl.doubtnut.com/l/_yADMCx0fD7X7


harmonically between clockwise and anti-

clockwise directions, about its axis. Answer the

following three question based on the above

information. 

 


The first noble gas on pseudo earth would be

A. 

B. 

C. 

He

H

Li

https://dl.doubtnut.com/l/_yADMCx0fD7X7


D. 

Answer: C

View Text Solution

Ne

2. Let's consider a hypothetical planet

 which is similar to our earth in

several aspects. The similarities are 

On pseudo earth: 

(i) There are same number of elements as on

our earth and they are known by the same

pseudo Earth

https://dl.doubtnut.com/l/_yADMCx0fD7X7
https://dl.doubtnut.com/l/_8N1BOsSZMgxl


name. 

(ii) Pauli's exclusion principal, Hund's Rule and

Aufbau principle are known to the people of

pseudo earth in the same manner as we know

on our earth. 

(iii) They classify elements as representative,

transition and inner- transition elements in

the same manner as we classify on our earth. 

However, there is one basic difference in

understanding the electrons, spin on these

two earths. On our earth the electron can have

only two spin directions. clock wise (1) and

anti-clockwise (2), while on pseudo earth there

https://dl.doubtnut.com/l/_8N1BOsSZMgxl


is an additional possible value of spin

quantum number called neutral spin (3) in

which electron is believed to be fluctuating

harmonically between clockwise and anti-

clockwise directions, about its axis. Answer the

following three question based on the above

information. 

 


The long form of periodic table on this pseudo

earth will have how many groups?

https://dl.doubtnut.com/l/_8N1BOsSZMgxl


A. 18

B. 24

C. 27

D. 36

Answer: C

View Text Solution

3. Let's consider a hypothetical planet

 which is similar to our earth in

several aspects. The similarities are 

pseudo Earth

https://dl.doubtnut.com/l/_8N1BOsSZMgxl
https://dl.doubtnut.com/l/_boIWH6ZObnIz


On pseudo earth: 

(i) There are same number of elements as on

our earth and they are known by the same

name. 

(ii) Pauli's exclusion principal, Hund's Rule and

Aufbau principle are known to the people of

pseudo earth in the same manner as we know

on our earth. 

(iii) They classify elements as representative,

transition and inner- transition elements in

the same manner as we classify on our earth. 

However, there is one basic difference in

understanding the electrons, spin on these
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two earths. On our earth the electron can have

only two spin directions. clock wise (1) and

anti-clockwise (2), while on pseudo earth there

is an additional possible value of spin

quantum number called neutral spin (3) in

which electron is believed to be fluctuating

harmonically between clockwise and anti-

clockwise directions, about its axis. Answer the

following three question based on the above

information. 
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On pseudo earth, atomic number of the first

transition metal wouLd be

A. 21

B. 26

C. 29

D. 31

Answer: D

https://dl.doubtnut.com/l/_boIWH6ZObnIz


View Text Solution

https://dl.doubtnut.com/l/_boIWH6ZObnIz

